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1. Answer the following questions:  

a. Was the white elephant rightly justified in helping the forester? Give your reason.  

b. Why did the author use the colour “white” for the central character i.e, the elephant in the 

story?   

c. Write the role of the officer in Daddy’s life. 

2. Replace the adverb phrase with an adverb:  

a. He will report at the hospital before long. 

b. He paints like a born artist.  

3. Change the degree:  

a. Sheela is as brave as Reema. (Change into comparative) 

b. China has a higher population than India. (Change into positive)  

4. Read the following telephonic conversation between Rohit and Vishal. Vishal is going 

for his badminton coaching and hence leaves a message for Manav. Draft his message in 

not more than 50 words.  

Rohit : Hello! Could I speak to Manav?  

Vishal : He is not at home. May I know who is on the line?  

Rohit : I am Rohit, your neighbour.  

Vishal : Rohit, I’m Manav’s elder brother, Vishal. How are you? 

Rohit : I am fine. Could you take my message for Manav?  

Vishal : Yes, sure.  

Rohit : Tell him that I need my Social Science book which he took yesterday as soon as 

possible because I have to make a school project. Also tell him to guide me for the project 

when he comes back.  

Vishal : Okay. I will convey your message.  

Rohit : Thank you. Bye.  

 

5. Prepare a chart and paste pictures of your grandparents or other relatives with 

whom you’re closely related with and write the importance of those persons in your life.  
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১। সঠিক উত্তরঠি বেছে বেছ ো- 

ক) মন্তেয: সন্ধ্যক্ষরগুলি উচ্চারণে একালিক স্বরধ্বলির য াগ থাণক। 

       যুক্তি: ঐ ও ঔ বণে ের মণিয দুটি স্বরধ্বলিণক পৃথক পৃথকভাণব পাওযা  ায। 

       i) মন্তবয টিক  ুক্তি ভুি                            ii) মন্তবয ও  ুক্তি দুটিই টিক 

     iii) মন্তবয ও  ুক্তি দুটিই ভুি। 

 ) মন্তেয: েোাংেোয় সোনুনোসসক শছের উচ্চোরণ সম্বছে সতকক হওয়ো প্রছয়োজন। 

      যুক্তি: সোনুনোসসকছের উপছর অছথ কর পোথ ককয সনর্কর কছর । 

      i)  ুক্তি ও মন্তবয উভণযই টিক।                   ii)  ুক্তি টিক লকন্তু মন্তবয ভুি। 

    iii)  ুক্তি ও মন্তবয যকাণিাটিই টিক িয। 

গ) 'র'  লদ বযঞ্জিবণে ের পণর  ুি হয তণব ____ হয। 

      i) ব-ফিা হয    ii) র-ফিা   iii)  -ফিা 

ঘ) শণের মাণে 'ঙ' থাকণি তার উচ্চারে _____ মত হয। 

      i) 'ঞ' এর মত হয  ii) 'ঙ্গ' এর মত হয   iii) 'ে' এর মত হয 

ঙ) লিয মুখুণ যর হাণত লিি যতাযাণি বা াঁিা - 

     i) গযিার বাক্স  ii) ঔষণির বাক্স   iii) বইণযর বাক্স 

চ) যকাথায িাগিণক ফযাি খাওযাণিা হণযলিি? 

     i) বামুিপাডায  ii) দুণি পাডায   iii) চাষা পাডায 

ে) লিজ  শালন্তপি বাস করণতি- 

     i) মগণি  ii) অবন্তী িগণর   iii) কাশীণত 

জ) যকাথায সব জি বণয  াক্তিি? 

     i) গম যক্ষণত  ii) আখ যক্ষণত   iii) িাি যক্ষণত 

ঝ) যগৌরাণঙ্গর ভাণিা িাম রাখা হণিা- 

    i) লবশ্বম্ভর  ii) লবশ্বরূপ   iii) লবশ্বিাথ 

ঞ) চচতিযণদণবর বািযকাি ও য ৌবিকাি যকণিলিি __________ রাজত্বকাণি। 

    i) িক্ষে যসণির  ii) রাজা গণিণশর   iii) যহাণসি শাণহর 

 

২.একঠি চোিক বপপোছর বতোমোর র্োছেো েোগো বয বকোছনো পোাঁচজন েোাংেো সোসহসতযছকর েসেসহ 

নোছমর তোসেকো সনম কোণ কছর তোছের একঠি কছর সোসহতয কীসতকর নোম বেছ ো। 
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1 प्रसु्तत कार्ड-चित्र के आधार पर उससे संबंचधत प्रश्न ंकन पढ़कर चिचिष्ट जानकारी चिखिए -  
 
क) प्रसु्तत कार्ड चकस 

कार्डक्रम से संबंचधत है ? 

ि) र्ह कार्डक्रम कब और 

कहााँ प्रसाररत हनने िािा है? 

ग) इस कार्डक्रम के मेज़बान 

कौन है? 

घ) मुख्य अचतचि का पररिर् 

चिखिएI 

2 चनम्नचिखित प्रश्न ंमें चिए गए उचित संबंध कन ज्ञात कीचजए:- 
i) व्यखििािक संज्ञा : भारत :: जाचतिािक संज्ञा : ?  

क) सागर    ि) चहमािर्     ग) ईमानिारी      घ) गंगा  
ii)  च्च : बच्चा ::  स्त :  ? 

क) सच्चा    ि) मक्खन      ग) अच्छा        घ) पुस्तकािर्  
iii) कथन (अ) - ननम्ननिखित कथन ों क  पढ़कर सही निकल्प का चयन कीनिए- 

अनिकथन – ‘ गर्मी की ििह से रु्मझे थकािट ह  रही हैI’ िाक्य र्में रेिाोंनकत शब्द 
िाििाचक सोंज्ञा का उदाहरण है I 

तकक  – नकसी  िी प्रकार के िाि की सूचना देने िािे शब्द िाििाचक सोंज्ञा 
कहिाते हैं I 

    निकल्प  
क) अचभकिन सही है, चकनु्त तकड  गित है I 
ि) अचभकिन गित है, चकनु्त तकड  सही  है I 



ग) अचभकिन और तकड  िननन ंसही हैं, क्नचंक तकड  अचभकिन की सही व्याख्या करता 
है I 

घ) अचभकिन और तकड  िननन ंसही हैं, परंतु तकड  अचभकिन की सही व्याख्या नही ं
करता है I 

iv) अनिकथन – ‘गाय’ का स्त्रीनिोंग शब्द ‘बैि’ है I 
      तकक  – स्त्रीनिोंग शब्द से स्त्री िानत का ब ध ह ता है I  
      निकल्प  

क) अचभकिन सही है, चकनु्त तकड  गित है I 
ि) अचभकिन गित है, चकनु्त तकड  सही  है I 
ग) अचभकिन और तकड  िननन ंसही हैं, क्नचंक तकड  

अचभकिन की सही व्याख्या करता हैI 
घ) अचभकिन और तकड  िननन ंसही हैं, परंतु तकड  अचभकिन 

की सही व्याख्या नही ंकरता है I 
v) ‘दुरघटना’ िब्द का िुद्ध रूप िुचनए- 
क)  िुघडटना     ि) िुघडट्ना     ग)िूघडटना    घ) िुघडटना 

vi) ननम्ननिखित िब्दन ंमें कौन-सा िब्द पुखलंग नही ंहै? 
क) सम्राट    ि) अचभनेत्री    ग) गुणिान   घ) चिद्वान   

vii) ‘नदनाोंक’ िब्द में चकस पााँििें िणड के स्िान पर अनुस्वार का प्रर्नग हुआ है? 
क) म       ि) ञ         ग) ङ         घ) न 

  
3 चनम्नचिखित िब्दन ंमें उचित स्िान पर अनुस्वार (ंं) अििा अनुनाचसक ( ांँ ) िगाकर चिखिए:- 

क) पहुि            ि) कुआ        ग) िारु्मर्ि 
घ) अधेरा           ङ)  सुिर        ि) सर्नग 

4 चनम्नचिखित प्रश्न ंके उत्तर चिखिए – 
क) ओिन ंके बनने और चगरने के बारे में िािाजी ने क्ा बतार्ा? 
ि) हमें जि का संरक्षण कैसे करना िाचहए? कनई तीन उपार्न ंकन चिखिए I  

5 ननम्ननिखित निषय पर पत्र निखिए । 
क) चिद्यािर् का माचसक िुल्क माफ़ कराने हेतु प्रािार्ड कन पत्र चिखिएI 

6 पररय िना कायक  
संज्ञा के भेि पर एक िाटड पररर्नजना बनाइए I 
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1.  उनचत शब्दाथं नचत्वा नििनु्त- 
 (चिजर्ः , अगे्र-अगे्र, पृथ्वी, रु्दे्ध, िेचह) 

क.  पुरः -पुरः    
 ि.  प्रर्च्छ  
 ग. जर्ः       
 घ. भूचमः      
 ङ. रंणे      
2.  िणक-य िनों कुिकनु्त- 
 क. अ + त् + र््‌ + अ   
 ि. क््‌ + उ + त् + र््‌ + अ  
 ग. स््‌ + अ + ि््‌ + आ  
 घ. र्््‌ + अ + ि् + इ   
3.  िणकनिन्यासों कुिकनु्त- 
 I. भ्रमचत    
 II. हर्डः    
 III. इकु्ष   
 IV. छत्रम  
4.  पयाकय-पदों नचत्वा नििनु्त- 
 (चनतं्य, पाठिािा, िनभनः , क्रीर्ाके्षते्र) 
 I. चिद्यािर्ः    

 II. सुन्दरः   
 III. प्रचतचिनं  
 IV. क्रीर्ांगणे   
 



5.  उतरानण एकपदेन नििनु्त- 
 I. चिद्यािरे् काचन सुन्दराचण सखन्त?  

 II. चिद्यािरे् अहं कैः  सह क्रीर्ाचम?   
 III. िरं् कुत्र क्रीर्ामः  धािमः ि?   
 IV. िरं् केर्ां सम्मानं कुमडः ?   
6.  उत्तरानण पूणकिाके्यन नििनु्त- 
 I. चिद्यािरे् अनेकाचन काचन सखन्त? 
     II. िरं् चमचित्वा चकं कुमडः ? 
7.  र्मोंिूषायाों प्रदत्त-पदैैः  ररक्तस्थानानन पूरयनु्त- 
 (गीताचन, चिद्यािर्, पाठं, िेिम्) 
 I. अहं प्रचतचिन ______________ गच्छाचम। 

 II. चिद्यािरे् प्रचतचिनं ______________ पठाचम। 
 III. प्रचतचिनं ______________ अचप चििाचम। 
 IV. िरं् चमचित्वा ______________ गार्ामः । 
8.  सिकनार्म पदैैः  ररक्त स्थानानन पूरयनु्त- 
 पुचिंगे  सः  छात्रः  ______________ छात्रौ ______________ छात्राः  
 स्त्रीचिंगे सा छात्रा ______________ छाते्र ______________ छात्राः  
 नपंुसकचिंगे तत् फिं ____________ फिे ______________ फिाचन 
 

9.  प्रदत्त-पदैैः  ररक्तस्थानानन पूरयनु्त- 
 (काकः , िाताडिापं, िने, िूरं)  

I. ित्वारर चमत्राचण चमचित्वा ______________ िसचनत। 
 II. हररणः  ______________ गच्छचत । 
 III. ते परस्परं ______________ कुिडखन्त । 
 IV. ______________ हररणं पश्यचत। 

 
 
 



10.  निपरीतों पदों नििनु्त- 
 क. िूरम्   
 ि. सारं्कािः   
 ग. प्रसन्ाः    
 घ. सुिेन   
11. Prepare in a chart paper for project work. 
 

 ‘अस्मद’ सिकनार्म रूपानण नििनु्त- 
 चिभखिः    एकििनम्    चद्वििनम्   बहुििनम् 

 प्रिमा  ____________ ____________ ____________ 
 चद्वतीर्ा ____________ ____________ ____________ 

तृतीर्ा  ____________ ____________ ____________ 
ितुिी  ____________ ____________ ____________ 
पंिमी  ____________ ____________ ____________ 
र्ष्ठी  ____________ ____________ ____________ 
सप्तमी ____________ ____________ ____________ 

 

 ‘युष्मद’ सिकनार्म रूपानण नििनु्त- 
 चिभखिः    एकििनं        चद्वििनम्        बहुििनम् 

 प्रिमा  ____________ ____________ ____________ 
 चद्वतीर्ा ____________ ____________ ____________ 

तृतीर्ा  ____________ ____________ ____________ 
ितुिी  ____________ ____________ ____________ 
पंिमी  ____________ ____________ ____________ 
र्ष्ठी  ____________ ____________ ____________ 
सप्तमी ____________ ____________ ____________ 
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1. Write the greatest 3-digit number using the digits 0, 5, 9 and also write 

the number in Roman Numerals. 

2. Write the predecessor of   CMXLV in Roman Numerals. 

3. Using distributive property find the product of 999 × 399. 

4. Find the largest 4-digit number which is exactly divisible by 15. 

5. Estimate: 2555 – 550 – 850. 

6. Arrange the following in ascending order: XCV, LXXXV, XCI, LVII, 

XCIV. 

7. Complete the series: 3, 4, 7, 11, 18, 29, 47, ___, ____. 

8. Divide and check your answer: 8721 ÷ 97. 

9. Round off the given number to the nearest crore 5,55,55,555. 

10. Simplify the numerical expression: 270 – (6 × 15 ÷ 3). 

11. In a factory a machine produces 75,693 toys in 8 hours. How many 

toys produce in 16 days? 

12. 75,75,863 sweets were distributed among 352 students of a school. 

How many sweets will each student get if every student gets an equal 

number of sweets? How many sweets will be left? 

13. A number was divided by 97; the quotient was 286 and remainder 14. 

Find the number. 

14. In a library there are 1756 books. Out of them 536 are science books, 

428 are mathematics books and others are comics. 

a. How many comics books are in the library? 

b. Write the number of comics books in Roman numerals. 

c. If the library buys 495 mathematics books. Find the total 

number of mathematics book in library and also write the 

number in Roman numerals. 

15. Find the value of the numerical expression: 

                     25.5 - (4.5 ÷ 0.5) + (3.5 × 2) – (47 ÷ 2) 
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. 

1.Order of energy flow in an ecosystem is 

         a) Sunlight → Herbivores → Producers → Carnivores 

         b) Sunlight → Producers → Carnivores → Herbivores 

         c) Sunlight → Herbivores → Carnivores→ Producers 

         d) Sunlight → Producers → Herbivores → Carnivores 

2.Rahul noticed his potted plant was not looking healthy. He put three earthworms 

into the pot. After a few days he noticed that his plant was looking healthier. What 

could be the possible reason for this change? 

         a) The earthworms helped the plant to take in water. 

         b) The earthworms ate up the pests in the soil. 

         c) The earthworms allowed the plants to make food faster. 

         d) The earthworms increased the air and nutrient contents of the soil. 

3.The microorganisms comprises of 

        a) bacteria 

        b) fungi 

        c) both (A) and (B) 

        d) green plants 

4.Assertion (A): Decomposers help in recycling of nutrients.  

Reason (R): Decomposers breakdown the dead and decaying plants and animals into minerals. 

       a) Both A and R are true and R is correct explanation of A 

       b) Both A and R are true and R is not the correct explanation of A 

       c) A is true and R is false 

       d) A is false and R is true. 

5.Assertion (A): Deficiency of calcium causes night blindness. 

Reason (R): In our diet milk and milk products are major source of calcium. 

       a) Both A and R are true and R is correct explanation of A 

       b) Both A and R are true and R is not the correct explanation of A 

       c)A is true and R is false 

       d)A is false and R is true.       

6.Assertion (A): Buffaloes cool themselves by dipping in water in summer 

Reason (R): Buffaloes do not have efficient sweat glands 

          a) Both A and R are true and R is correct explanation of A 

          b) Both A and R are true and R is not the correct explanation of A 

          c) A is true and R is false 

          d) A is false and R is true. 



7.Identify the nature of these given food chains as aquatic and terrestrial. 

 

 

 

 

A)                  B) 

8.Which deficiency disease is caused by the lack of Vitamin C in the list? 

       a) Beriberi 

       b) Scurvy 

       c) Anaemia 

       d) Rickets 

9. Device to measure temperature 

a) Thermometer 

b) Stethoscope 

c) Computer 

d) None of the above 

10.Egg is the rich source of 

a) Protein 

b) Carbohydrates 

c) Iron 

d) None of the above 

11.person may be getting enough food to eat, but sometimes the food may not contain a 

particular nutrient. If this continues over a long period of time, the person may suffer from its 

deficiency.  

If a person does not get enough proteins in his/her food for  a long time, he/she is likely to have 

stunted growth, swelling of face, discolouration of hair, skin diseases and diarrhoea.  

If the diet is deficient in both carbohydrates and proteins for a long period of time, the growth 

may stop completely. Such a person becomes very lean and thin and so weak that he/she may not 

even be able to move. 

I) Name the disease which is caused due to deficiency of proteins. 

a) Kwashiorkor 

b) Marasmus 

c) Lung problem 

d) None of the above. 

  II)  Name the disease which is caused due to deficiency of carbohydrates, fats, protein. 

       a) Kwashiorkor 

       b) Marasmus 

       c)Lung problem 

       d)None of the above. 

 



III)Balanced diet contains  

       a) Only water and mineral 

       b) All nutrients in correct proportions 

       c)Roughage and dietary fibres 

        d)Both a and c 

IV) Which is not the symptom of protein deficiency? 

       a) Skin diseases  

       b) Lean 

       c)Stunted growth 

       d)Bleeding gums 

12. Observe the diagram carefully and answer the following questions 

 

 

 

 

 

 

 

a) Identify the test for the given sample. 

b) Mention the food component which is detected through the above experiment 

13.Take a small quantity of a food item. Wrap it in a piece of paper and crush it. Take care that 

the paper does not tear. Now, straighten the paper and observe it carefully.  

      a) Does it have an oily patch?  

      b) Hold the paper against light. Are you able to see the light faintly, through this patch? 

      c) Mention the presence of food component through the above experiment. 

      d)State the composition of fats. 

Activity H/W:  Make a poster on “Harvest water to harvest life". Prepare the poster in A4 

size paper   
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Q.1 Choose and write the correct options: -   

 a) The earliest Map was made in 2300 B.C. in which country? _____  

 i)  Mesopotamia (Iraq).     ii) Greece.     iii) Persia (Iran).     Iv) Armenia.  

   

 b) The first human being to set foot on the Moon was _____.                                                                                               

  i) Neil Armstrong          ii) Yuri Gagarin      iii) Kalpana Chawla      iv) Sunita 

Williams 

 

   

 Q.2 In this question given below, there are two statements marked as Assertion 

(A) and Reason (R). 

  

 Assertion (A): The Red Planet Mars is a cold desert.  

 Reason (R):  It’s atmosphere is too thin for liquid water to exist for long on 

the surface. 

 

 

 i)Both (A) and (R) are true and (R) is the correct explanation of (A).  

  ii) Both (A) and (R) are true but (R) is not the correct explanation of (A).  

 iii)(A) is true but (R) is false.  

 iv)(A) is false but (R) is true.  

   

 Q.3 Match the following and choose the correct option. 

i) Pongal. A Punjab. 

ii) Green Revolution. B Tamil Nadu. 

iii) Bal Gangadhar 

Tilak. 

C Rajasthan. 

iv) Ghoomer. D Maharashtra. 
 

 

 a) i) – A, ii) – B, iii) – C, iv) – D.  
 b) i) – B, ii) – A, iii) – D, iv) – C.  

                c)   i) – D, ii) – A, iii) – C, iv) – B.  

 d)  i) – B, ii) – C, iii) – A, iv) – D.  

   

 Q. 4 Assertion (A): Swami Dayanand Saraswati was a great social reformer.                                    

       Reason (R): He was totally against the caste system and strongly advocated 

the  cause of education for all. 

 

 i. Both (A) and (R) are true and (R) is the correct explanation of (A).  

 ii)Both (A) and (R) are true but (R) is not the correct explanation of (A).  

 iii) (A) is true but (R) is false.  

 iv. (A) is false but (R) is true.  

   



 

 Q.5 Mention the name of the place where the archaeologists have found pit 

houses.  

Q.6   Identify the picture and name the place to which it belongs.                                                                                                                                     

           
           

         

           

 The use of electricity has revolutionised the rural life. Television, Radio, 

Telephone and different types of home appliances are common in rural areas. 

New agricultural implements, fertilizers and finances are easily available. These 

have helped the farmers to usher Green Revolution in the country.  Green 

Revolution began in India in the mid 1960’s to increase production of crops like 

wheat, rice, etc. M.S. Swaminathan is known as “The Father of Green 

Revolution in India”. Punjab was the first state to try the new crops. The life 

style of the rural population has been changed. 

 

 i)  Mention the factor, which has revolutionised the rural life in our 

country. 

 

               ii) Who is known as “The Father of Green Revolution in India”?   

iii) Identify the first state to start new crops.                                                                        

 

 

 Q.8 a)       

 

     b)  

 
 

         

Q.9 

Identify the names of two festivals and their respective states, through which the 

happiness of the farmers is expressed. 

Mention three features which throw light on the diversity in India.                            

                            

             
‘The position of the moon in relation to the sun changes every day’ – Justify the 

statement with proper explanation.                                                                                                                                                                          

 

 

 

 
 

 Project Work: -    Make  a  Project  of  Colourful Coins ,  belonging  to  the  

period  of  SamudraGupta  with  the  help  of  clay. The  Project  should  be  

beautiful  and  attractive. 

 

 MAP WORK: On the Outline Political Map of India, locate, label and colour the 

following places ---  

 i) Two   Cities in the Northern Plains. 

             ii)  The   Queen of Hill Stations. 

iii) The birthplace of poet Kalidas. 

            iv)  Chandoli. 

v) The State from where the White Revolution had started. 

 

             


